

$A_{\text{res}} \rightarrow 10 \text{ dB}$

$$T = \frac{a}{1-r} = \frac{a}{r} \rightarrow \beta \rightarrow \alpha \rightarrow \tan \frac{\alpha}{2} = 1$$

$AC \quad S = \frac{A_r + 1}{r} = \frac{a}{r}$

$$a \sin \alpha = \frac{1}{r} \cos \alpha \rightarrow a \sin \alpha = \frac{1}{r} \cos \alpha \rightarrow \frac{1}{r} \sin \alpha = \frac{1}{r} \cos \alpha$$

$$\frac{1}{r} (\sin \alpha - 1) = 0 \rightarrow \frac{1}{r} \sin \alpha = \frac{1}{r} \cos \alpha + \frac{1}{r}$$

$$\rightarrow \sin \alpha = \cos \alpha + 1 \rightarrow \sin \alpha = \sqrt{1 + \cos \alpha}$$

$$\rightarrow \sin \alpha = \sqrt{1 + \cos \alpha} \rightarrow \left(\frac{1}{r}\right)^2 = \frac{1}{a} \rightarrow \cos \alpha = \frac{1}{a}$$

$$\frac{1}{a} = \frac{1}{r} \rightarrow \tan \alpha = \frac{1}{\cos \alpha} = \frac{1}{\frac{1}{a}} = a$$

$$\log \sin \alpha = \log \cos \alpha + \log r \Rightarrow \frac{\sin \alpha}{\cos \alpha} = r \Rightarrow \tan \alpha = r \cos \alpha = r$$

$$\sin \alpha = \cos \alpha \cdot r \Rightarrow \cos \alpha = 1 \Rightarrow \cos \alpha = \frac{1}{r}$$

$$\frac{1}{r} \Rightarrow \sin \alpha \Rightarrow \log \frac{1}{r} \Rightarrow \alpha$$

$$\sin \alpha = \cos \alpha \cdot \frac{1}{r} \Rightarrow \frac{1}{r} = \frac{1}{r} \Rightarrow \frac{1}{r} = \frac{1}{r}$$

$$\sin^2 \alpha + \cos^2 \alpha = \frac{r}{g} \Rightarrow (1 - \cos^2 \alpha) + \cos^2 \alpha = \frac{r}{g} \quad -3$$

$$\Rightarrow 1 - \cos^2 \alpha + \cos^2 \alpha = \frac{r}{g} \Rightarrow \frac{1 - \cos^2 \alpha + \cos^2 \alpha}{\sin^2 \alpha} = \frac{r}{g}$$

$$\Rightarrow \sin^2 \alpha \cos^2 \alpha = \frac{r}{g}$$

$$\frac{r}{\sin \alpha} = \frac{r}{\cos \alpha} \Rightarrow \frac{\cos \alpha}{\sin \alpha} = \frac{r}{\sin \alpha} \Rightarrow \cos \alpha = \frac{r}{\sin \alpha} \quad -4$$

$$\Rightarrow \cos \alpha = \frac{r}{\sin \alpha} \Rightarrow \cos \alpha = \frac{r}{\sin \alpha}$$

$$\tan \alpha = \frac{\sin \alpha}{\cos \alpha} = \frac{\sin \alpha}{\frac{r}{\sin \alpha}} = \frac{\sin^2 \alpha}{r} \Rightarrow \tan \alpha = \frac{\sin^2 \alpha}{r}$$

$$\Rightarrow \frac{r}{\sin \alpha} = \frac{r}{\cos \alpha} \Rightarrow \frac{r}{\sin \alpha} = \frac{r}{\cos \alpha}$$

$$\frac{\sqrt{r \sin \alpha}}{\sin \alpha \cos \alpha} = \frac{1 \cdot \sin \alpha + \sin \alpha \cos \alpha + \sin \alpha \cos \alpha + \cos^2 \alpha}{\cos^2 \alpha} = \frac{r \sin \alpha}{\cos^2 \alpha} \quad -5$$

$$\sin \alpha \cos \alpha = \frac{r \sin \alpha}{\cos^2 \alpha} \Rightarrow \frac{r \sin \alpha}{\cos^2 \alpha} = \frac{r \sin \alpha}{\cos^2 \alpha}$$

$$\sqrt{r}$$

$$1 - \sin^2 \delta = 1 - \sin^2 \delta - \sin^2 \delta \rightarrow \cos^2 \delta - \sin^2 \delta = \cos 2\delta = 1$$

$$\cos^2 b = 1 - \sin^2 b = \cos^2 b = \cos^2 b$$

$$\frac{\tan^2 \epsilon}{\tan^2 \epsilon} = \cos \epsilon \cdot \cos b \cdot \cos \epsilon \cdot \frac{\sin b}{\sin b}$$

$$\frac{\sin b}{\sin b} = \frac{1}{\cos b} = \frac{1}{\cos b}$$

$$\sin x = \cos \alpha \Rightarrow \sin x = \cos \alpha$$

$$1 = \sin^2 x + \cos^2 x = (1 - \cos^2 \alpha) + \cos^2 \alpha = 1$$

$$\cos^2 \alpha = \cos^2 \alpha \Rightarrow \cos^2 \alpha = \cos^2 \alpha - 1$$

$$\Rightarrow \cos^2 \alpha = \cos^2 \alpha - 1 \Rightarrow \cos^2 \alpha = \cos^2 \alpha - 1$$

$$\Rightarrow 1$$

$$\sin x, \sin B = \frac{1}{2} (\cos(x-B) - \cos(x+B))$$

$$\Rightarrow \sin B \cdot \sin C = \frac{1}{2} (\cos(B-C) - \cos(B+C))$$

$$\cos(B+C) = \frac{1}{2} (\cos(B+C) + \cos(B-C)) \Rightarrow \cos \frac{B+C}{2} = \cos \frac{B-C}{2}$$

$$= \frac{1}{2}(\cos A + \cos A) \quad , \quad A+B+C=2\pi \Rightarrow P=2\pi-(A+C) \\ \Rightarrow B+C=2\pi-A$$

$$\Rightarrow \frac{1}{2} \cos(2\pi-(A+C)) = \cos(2\pi-A) = \frac{1}{2}(\cos(A+C) + \cos(A+C))$$

$$\frac{1}{2} \cos A + \frac{1}{2} = -\frac{1}{2} \cos(A+C) + \frac{1}{2} \cos A \Rightarrow \cos(A+C) = 1$$

$$\Rightarrow A+C=2\pi \Rightarrow B=0 \Rightarrow A=2\pi-(B+C) = 2\pi$$